BUUCTF_Crypto A= R 9l

LR F 2020-10-28 17:10:14 KA 144 s

7r2K%H: BUCCTFE_Crypto

RO RSO R RO E, EE_CC 4.0 BY-SA KRN, H#iEM LECH B mAER,
ACEERE: https://blog.csdn.net/yaoyuan_20000111/article/details/109337353

FERAL

Crypto
-BUCCTFC to ERAT LA

1 R3CE 0T
TR EE

—.2H

MEHL: afZ_rovYiScOeO_UL"RWUc
#3: flag{}

o

BEIL: afZ_rovYIScOeO_UL"RWUc, FEFERET Sctf Bi#flag XM L,
B & B

a:97 102 Z106 _:95

f: 102 ——>a: 97

l: 108 ——>f: 102

a: 97 ——>7Z: 106

g: 103——>_: 95

a—f: B35

f—l: 376

FHKIRBSTT7. 8, WZRIXMBIIME, EERG

=


https://blog.csdn.net/yaoyuan_20000111
https://blog.csdn.net/yaoyuan_20000111/category_10521356.html
http://creativecommons.org/licenses/by-sa/4.0/
https://blog.csdn.net/yaoyuan_20000111/article/details/109337353
https://blog.csdn.net/yaoyuan_20000111/category_10521356.html

def b_kaisa(

first_step
i=20
result []

for i in DE
as_num ( [i])
as_num first step

result.append(as_num)

first_step
i 1

return result

question

result = b_kaisa(question)

print(result)

for i in result:

print( (i),end
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